Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2018

Subject Name : Environmental Engineering
Subject Code: 2TEOSENE1 Branch: Diploma (Civil)
Semester: 5 Date :05/12/2018 Time : 10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) How many minimum Domestic Water Consumption in liter/head/day in Indian (1)
city?
A)130 B)135 C)140 D)137

b) Which IS Code use for Water supply? (@)
A)IS 1172-1993  B)IS 1173-1993 C)IS 1110-1993 D)None of these

c¢) From following which one is correct buston’s formula? 1)
A)5660 P2 B)5661 P  C)5662PY2  D)5663 P

d) Which impurities found in water? (@)

A) Suspended impurities
B) Dissolved impurities
C) Colloidal impurities
D) all of these

e) Coarse screens also called................... (1)
A)trash racks B) Big racks C)Small Racks D)None of these
f)  When impurities particle size specific gravity bigger than 1 than coagulation (1)

A)Required B)Not Required C)some time required D) None of these

g) Shape of sedimentation tank is ................ 1)
A)rectangular B)Circular C)Hopper Bottom tanks D) D) all of these

h) How to find detention period? 1)
A)T=C/Q B)T=Q/C C)T=Q+C D) None of these

i)  Flocculation tank also called................ (1)
A)Flocculator B)Flock tank  C)filter tank D) None of these

j)  Uniformity coefficient=................ 1)
A)Cy=Deo/D1g  B) Cy=Dso/D1g  C) Cy=Dao/D1o D) Cy=D70/D1g

k) The temporary hardness is also known as ..................... (1)

A) Non Carbonate hardness B) Carbonate Hardness C) Sulphate Hardness
D) All of these

I)  Which process use for Removal of Permanent Hardness D
A) Zinc Process B) Magnesium Process C) Zeolite Process D)None of these

)
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m) According to WHO, the soft water has 0 to milligram per litre as CaCO3

a) 30 b) 60 c) 90 d) 120
n) Biochemical Oxygen Demand (B.O.D.) of safe drinking water must be
a) nil b) 10 c) 20 d) 30

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-6

Q-7

Q-8

(A)

(B)

(A)
(B)

(A)
(B)
(©)

(A)
(B)
(©)

(A)
(B)

(A)
(B)

(A)
(B)

Attempt all questions

What are the necessities of sedimentation with coagulation? States principle of
coagulation.

With the help of neat sketch explain slow sand filters.

Attempt all questions

What are the factors affecting selection of source of water supply? Explain it.
What are the chemical parameter which asses quality of water? Explain it.

Attempt all questions

Explain the method of softening to remove permanent hardness
Explain Recycling system of Solid waste management.

Give comparison between slow sand and rapid sand filters.

Attempt all questions

Explain Methods of removal of dissolved solids.
Explain Solar distillation gadgets and plants.
Explain Direct freezing

Attempt all questions
List the types of sedimentation tank and explain any one with sketch.
Explain Desalination process by Reverse Osmosis & Electro dialysis.

Attempt all questions
Explain effects of direct & indirect hazards.
Explain COD and BOD in detail.

Attempt all questions
Write short note on hazardous waste.
Explain skimming tank with sketch.
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Q-1

b)

d)

f)

9)

h)

)

K)

Attempt the following questions: (14)

Rl 23l @z / 3s / Rauni aq 2ol 1L Ay ude wel (1)

AU A B?

A) 130 ofl) 135 Al) 140 $l) 137

el yasl HIZ sl UsAU Slsell GUADL Al B? (1)

A) 1172-1993 ol) USAA 1173-1993 1) USBA 1110-1993 1) il

8 o8l

o{lActtmiall B UY creete] Yol B? (1)

A)5660 P2 B) 5661 P2  C)5662 P  D)5663 P

Wl ¢ w4 Aal 1A B? (1)

A) ARWeDS WY (&

o{l) (QulFd w2

) SlAssA wg (s

S) L oLl

A oAl A o sdalla B. (1)

) 29t 35 ofl) Hlel s L) ool 25 S1) AHiell 5L oSl

w2 YAl 56llef s€ QA syl 1 sctl cu dla B U . (1)

5493JA2ot ol ..o

W) 33 ofl) waus o2l) Secs uHa %33 © 1) il S\ o8l

AR R0t 2(8lo] AWSL2 .............. B. @

A) de ofl) uRuA ) guR cllen 205 $l) S) L ot

uestad wa@l 3cl Aa Aaadl? (1)

A)T=C/Q B)T=Q/C C)T=Q+C D) None of these

sAlsyAglot 28l Ul ............... sdalla B. (1)

A) scllsgder ofl) sclls aigl ) (eer aigl $l) wuiel 818 el

As3UAL RS = oo, (1)

A)Cy=Deo/Diy  B) C=Dso/Dyy  C) Cu=Dao/Dio D) C,=D7¢/D1

I RTEI T TR Tt (1)

A) ollot slollale sBotcl oll) stellae sléax ) Ucke sléax

1) L sl

st sBetcllal £2 s2cll HIZ 58 YAl GUAL 52 B (1)
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A) A uBaL ofl) AoARlH yBa ) Blcise NAM 1) auHisdl
816 o8l

M) socyRAUA ueflR, AAsA 3 A3 cller €l cllez wello ol @
Aclloun @22 &
A) 30 oll) 60 Al) 90 $l) 120
N YA Wettott wllofl ctA3Asc 2UEA% BHlos (ol 2ALIL) Slell....... (1)
CEDER
A) [t ofl) 10 {l) 20 81) 30
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
(A floyAatet ofl ASIA ot Bl ol 3R 9 B? 5loyAglototl Rgict (7)
AU,
B) sl oll Hee A Xl ot Beer QA Ul (7)
Q-3 Attempt all questions (14)
(A will yastetl Blldell uieollal R sl URKUA sal B? yuesdl. (7)
(B)  rua@s AHleR 9 B B wellell opatatia Yur WA B? Aol (7)
Q-4 Attempt all questions (14)
(A) gl Autdls g2 sal M2 oM Uclloll ug@ UHAA ®)
(B)  A@s A AdxNozell Raaubelol R uHsAl. ®)
© 3 3l wl 35U 2l oundl A el s2A. (4)
Q-5 Attempt all questions (14)
(A) QoA desla g2 scllell ugld uHAAL. ®)
(B) AR BRRAU ARz wa 8IS (AQ UHAMA ®)
€)  siadse 4ot umendl (4)
Q-6 Attempt all questions (14)
(A ARNust  2iflotl UsAoll YR clolldl ua WA gl 88 As 213 (7)
Al
(B)  Ral 2 RU wa 852 SR g2l BAAAAA YBuA A (1)
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Q-7

Q-8

(A)

(B)

(A)

(B)

Attempt all questions
Al Al et Sutlo{l AU UMt

QotctatRul LA el ofl 3.8l AHestAl.

Attempt all questions
Rl sUA UR &5l ol Aull.

WA U 0L 28l dHes A

(14)
()

(7)
(14)
(7)

()
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